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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
oot AR ot P e fer :

(@) Which measure of central tendency is
known as positional average?

@R IR (D @RE TS e I
& I ? .

(b) What is the SD of the following values?
TS TNl T
©oq AAERE Tw@ e 6 2

Ty Tplea T T
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(c)

(d)

(e)

(9)

()

(i)

0)

22A /41

(2)

What is meant by Kurtosis’?
T 3@ e & @ 2

What does r =0 signify?
r=0d % Ie 337

Define a random variable.

RS S el i |

In a Poisson distribution mean =7
variance = 8, |

(Write True or False)
BT 75’ IS 9% = 7, 2P = 8,

(o7 1 =y fora)

E(c) =?, where c is a constant.

E(g) =? TS c (3% 901 &7 |

If P(A or B) = P(A) + P(B) - P(An B), then
what will be the nature of the events
A and B?

I P:{Am B) = P(A) + P(B) - P(A B)
COCRT ASIF B (70 25f%q 55a11 2 ’

What is joint probability distribution?

A seifae Rege fa 9

When does a sampling error arise?

oo @b @ fom 277 o(ieq 2

( Continued )

2. Answer the following questions :

(3)

2x5=10

o 2T T 4

(@)

(b)

(c)

(@)

(e)

22A/41

For any two unequal positive numbers
a and b, prove that AM >GM.

R o1 SPHIA 4R R a A B 0T
o1 91 & AM > GM.

What is the probability that a non-leap
year will contain 53 Fridays?

Q51 SEI-SEEY AR 536 WEAE RN
Ssifael {1 2

If the covariance between x and Yy
variables is 12 and variances are 16 and

9 respectively, find the correlation
coefficient between x and y .

T x SF y o bEFd 2B 12 W WAF PR
TAEE 16 WE 9 W, (SR 'TA YN TSH
ST Sfere |
If X; is a random variable with
respective  frequencies  f;,  where
i=12 3, ---, n, show that E(X)=X.
A X, 951 A0S bee 2/ TR IR f; =,
e i=1,2 3, -, n, (OERE (S &
EX)=X.
Mention two
sampling.
e AfOETR B! &S T 1 |

( Turn Over )
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(4)

3. Answer any four of the following questions :

5x4=20

o1 i 2pprRs Riceren BiRem Teq fore -

(a) Find the first four moments about the
mean from the following distribution :

T RO JEE R gAY wfEG gl
et :

Heights (inch) : 60-62 63-65 66-68 69-71 72-74

Ty (3f¥s)

Frequency : 5 18 42 27 8
SIS IR

(b) Prove that Karl Pearson correlation
coefficient lies between +1 and —1.

&A1 @ T PR TPEE TRe +1 T
—1 9 S AT |

() Define conditional probability. If
P(A)=0-4, P(B)=0-7 and P (at least
one of A or B) =0-8, find P (only one of

A and B). 2+3=5

TR IR A i | 7 pa) = 0.4,
P(B)=0-7 SF P (I44TF A 7231 B3 «Y)
=0-8 2, (SGRT P(A 9<F BI R
9o1)d igifaer Tferean |

22a/41 ( Continued )

4.

(S)

(d) A random variable X has the following
probability distribution :

9Bl I FEAE X @ wo ISl IBH

Yo I A

i e APURGST IEG T WEaY Sk 11T

P : 01 03 04 02 05 03
Find mean and variance. 5

51G B[ 2P7ae Sfered |

(e) Explain the principal steps of a sample
survey. S

“ifSoae “imfeq RfeT TR ST 47 |

Answer any four of the following questions :
10x4=40
oo ReFTet Bt o Ted for

(a) What is dispersion? What are its various
measures? Find the variance from the
following table :
firgaq qw 62 T R[foa caeEr /2 oo
ST 7@ 2P7Eel Sfere ¢

Age (years) : 20-30 3040 40-50 50-60 60-70

737 (I=A)

No. of persons 170 110 80 45 40

gz R
Which measure is known as the ideal
measure of dispersion? 2+2+5+1=10
fRpgae™ e e S @ I
25?7
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(b)

(c)

22A/41

(6)

Distinguish  between positive and
negative correlation. Find the rank
correlation between X and Y from the
following table :

TINE S AP Faa A1 et | oo
fol ofem @ X W= ve ol s
Sfere

X:15191310172281312
Y:212023181925111615

Analyze the result.
FoFe [Roma 941 |

3+5+2=10

State and prove Baye’s theorem of
probability. An urn contains 10 white, 6
black and 3 red balls. 3 balls are drawn
in succession. What is the probability
that they are drawn in the order of
black, red and white if the balls are not
replaced after each draw? 5+5=10

e (' SO % 1 et <o |
<51 =S 1051 390, 651 oy s 301 1 T
mwmwm‘aﬁh%ﬁmﬁw@
oIE 2l T SR Pirs e wes by
ﬁWTWﬂLc@Fﬁ?ﬁ:@m@m'¢m,a@1@ﬁsqm
@1 SR it e ¢

( Continued )

{750

(d) Obtain the constants of a Binomial
distribution. In an intelligence test of
1000 childrens, the average was 42 and

SD was 24.

(i) Find the number of children
exceeding a score of 50.

(i) Find the number of children lying
between scores 30 and 54.

(it} Find the value of score exceeded by
the top 100 children.

o 3G9 7 TAIR oferedr | 1000 FreF

e+ GBrS T A 42 HF TTF {07

24.

(i) S0%e WRF TF R FreI wam
Tfepe |

(i) 30 WF 543 & TII I [RIE IS
Sfere |

(i) i TEE I 100 T freq SR
et |

PO < z<-33) =0-1293,
P(0 < z<-5)=0:30854

bability
; isti ish between Ppro .
(3 gll::sngl:'unction and probability

density function.

( Turn Over )
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(8)

fii) A problem of chemistry is given to
three students A, B and C whose
chances of solving the problem are
%, % and -,f,— respectively. What is the
probability that the problem will be
solved?

(iij) Under what conditions Binomial
distribution tends to normal

distribution? 3+4+3=10
(i) >BfEel $3 Fo [ S SElRer Ty ToER
“(12f%7 feorim |

(i) T P R 961 700 A, B wF Gz
REICCES R Rl e e B Sl o e
TRl I @ L, Lowe Lo,

7
(SR’ TACEl S QRN SwsifEe
= 2

(iii) TP W 69 RS @9 359 TyEe
G RS 27 9

(/ Explain the different types of sampling
with their relative merits and demerits. 10

Aferte RS sz wfes ader Hrs
ST 3547 |

* % %
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